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ACCOUNTANCY-II (Part-]) &
ACCOUNTANCY-II (Part-11)
(Commerce Group Only)
(Punjabi, Hindi and English Versions)
(Evening Session)

Time Allowed : 3 Hours Maximum Marks : 80

(Punjabi Version)
WSl §33-u3dt & ez F '3 femr-d3/ing-aF T8 wE Y
IR -33/ NG -33 142IA 739 Ta7 77 |
(i) G3I9-Y3d 8 I fom & v fa= 7 & BG f7 fow feg odizg AfT7 28 U5
JT& "3 3la gHeT I5 |
(iii) §IT-UIH @9 wdl ier/us g8 T gwe I8 T F& yHE/yFE =
HEFE 3t di3 7ear |
(iv) YHE-YIT 89 138 a'a I& a1 €, Iar vl »7 Far & | a1 € /g fefomraein

get 7gdt & w3 feforrad] s o »3 e B9 fige 8] 797 & 92 Aae
Iz |

(v) HiwaHa yaaT oE maeT, 8EE 7 dfen & aE Ay 397 T 1
(vi) JaTH 3 RET AgaE a8aBed a3 & wlam T 1
9 €
(vii) YAB 3, 1 [ fa-fEa #d T8 Y75 I& |
YHE &, 2 §9 Fa Idaq € 2 I T |

i &, 10 59 977 Qu-ga I8 | 99 K9 3 {5 yia' € 837 o8 1 75w
YHE 4 Har o7 & |

a2: (i)
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YHE 3. 12 5 18 g3 € 2 Wd I5 1
s 3. 19 £ fis Qu-ga 35 | 35 9 38 2 yme’ € 839 o€ | Tow
YHE 4 wia gr F |
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i fPa a-wsar § A fig wives @ e o A AaE J | I
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J5 | . 1
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2 | I
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J | 1
FI1eaBYl YIS
x) @Y og wig & feadt 3 yuz 3¢ gem § ifer e IdteT 9 I

(a) Yt Yyt (b) WS YUt

(c) AU (d) FHTE MHTS
(xi) 175, 2022 3 ffa A¥TT 3 BIH § 1,00,000 JUE T JIA {37 |

AHE3 &t wicde &9 31 W99, 2022 3 daw §uad fenra fuaar - I

(a) ¥ 1,500 (b) ¥ 3,000 (¢) ¥ 6,000 (d) ¥ 12.000
(xii) TEa »&d 9< . 1

(a) WITg & fagrfenr (b)) H&AT ¥ IfHES

(¢c) WITY < Iad I forw (d #IET & Ut 3 fourg
(xiii) fnrmar »iau3 T ;
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Sfae i3 7 J 1

(a) &l Y37 (b) B AEET T gy yrgr

(¢) &< A¥Yd T Udl urar (d) oI5 &9 &t xf
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(xvi) 8] W89 &t HE-wadt 3 gy
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S it w3 foT afse )

Jeafl | [
(1) AT -HE3 A8 (b) Tt FET
(c) W'J AZET (d) feost &S &t &
(xvii) THE w3 J - ;
(a) & -H3J Yr3" (b) THIIEH y3T
(¢) femadtars yrar (d) HUE g3
(xviii) ' RS2 § 2t ¥aw wioe 395 0% 96 fm o8t 698 5,000 qu
fe3 #edt | BHg 6,000 QUR TPEt waY T I F9 o | =me
y3 &9 fddt gaw 3fae it waeft 1
(a) ¥ 5,000 (b T 1,000 (¢) ¥ 6,000 (d) ¥ 11,000
H'd YHE 399 2 3 9 Id J7 | JoF YHE 2 e & & | 8x2=16
2. BTI W UI AT I gz ftae I 2 2
8. VU&I-HBEE y3T ot J 2 2
4, <IN < IIA w3 f&ft aaw &9 It € »izg fog | 2
5. WS Bl 8¢ 3 nTHES ¥ U3™ SIrg - 2
(i) WS ITE YUz I ¥ 20,800
(ii) WS € "3 3 gafonT da ¥ 8,400
(i) A% € Hg 3 garfen I ¥ 2,400
(iv) A ¥ iz I Umsft @ yusz 92° ¥ 2,800
(v) "B THY I Umeft @9 Y3 §2' ¥ 1,600
6. fEa et € fugd® U7 Wa' ¥ B9 gHET T 80,000; T 1,00,000; T 64,000
¥ 1,36,000 »3 ¥ 1,12,000 I5 | 'UEB U7 Wa" @ winzg 59 I fIs gt o
ydte ¥ »ag 3 Ay @ HE dt aeET a9 | 2
7. XY, Z®3 3T §5:3:2 W @Y IR wivew a5 | 10w, 2022 § O
52:2:1% wiaus3 &R 39 T ¥ |y g | O firdt § wifaw % e
foHsiaiyz gae feudt € 39 75 -
3
89 M3 I (Cr.) 15,000
AUgs faade 50,000
HB3E @™ HagT 10,000
Bdie 7Ia5 ffoa™ a9 | 9
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60.000 C ! 22,000 |
50,000 |
¢ 20,000 .
A 10,000 |
B 5,000 '
2,38,000 2,38,000 [

1722, 2022 % B9 T ¥3d 39 e fomm
&2 2 313 7 5000 @ fiw # | feg fdg R 3 yuz o # |
R fozrdn Arez T fowr w2 Gt A0S 3 60% =gt it et |
b Fom ufeor famr fa v &8 &r-vom &3 foem & vz
7 80009 1 7 fov e 3 o9 & &g onmar 8 famr wiwr 9 |
v, A »mrft uZB € g9 T ugT feuedr Fafent 2I8lNT BT B
T2 T far |
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1. X3 7 JB3 18y 1241=12
(1) Mﬁaw@ﬁfemaﬁdl /
i) ddA-U33 HEd3 Gt o feg fa g I
Gin 8 quat »uE Jaw -39 ydte wadt 3 !
(iv) HES Y39 feq 98 deudt 3 I
v Ha GI3Te Ia3-99Hg I | 1
wviv | S enft wdfte e fodt grdfedt 3 1
i) A WY TI5 TB fonadn § foqr #ier J | I
(@) MATSR (b) YHZIH
(c) ?l"d:flj?ﬂ (d) ﬁﬂmeﬁ?ﬁ

(viii) 959 1 JU® Ui °3 10 quP o Tmg faw '3 9 U (udhHe
RH3) W3l % T w3 udtiey W3 7 qu® o gar3s iz famu I

wu3 I9 four e 3 1 Ot v 3fae otz e e 3 - ]
(@) ¥ 103 () ¥ 83 () ¥ 93 d) T 73

(ix) IIF-U3T fEE-U39 43 € wof J - 1
(a) THIfEF ¥y (b) B -H3g yr3r
(c) fomadtas yar (d) fegst &9 aft &

(%) feaawﬁaﬂwwmﬁﬂweuoouumaawéa"amﬁsmﬁ
2,00,000 JUE J | fer ¥ I8 wizuts Jar

I
(a) 3:1 (b) 2:1 () 4:1 d) 15:1
fmfwwﬁwaﬁmﬁwzmonoommmﬁﬁsﬁm

auooooaxr%a?;msnusﬂwsnfaammﬂwe‘rqﬁmd’rﬁeaﬂ? 1
(a) 60% (b) 29% (¢) 40% @ 71%
cxn}aa%mwﬁ%ma‘mzj;m-amﬁﬁsww%v 1
(a) WIlSTaGar YJgdh (b) Tug
(c) faem (d) =TT f¥s
A YA 3599 12 3 18 37 &7 | I3 YHS 2 nig v 3 7x9=14
12. mﬁmﬁwfewmﬁaﬁﬁ%vﬁaaml 5
13. FIA-U3T <t TuHt BH fS3 ¥ T wIZ fuy
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14, &t fegge femdne” S et @ et g |

5. IH fenfes & 10 Jud @ 800 Y95 w3 im w3 A3 fros' 3 TR B yF
MR TS 4 JUE 98 -U3T It wrer AR 1 fegst fEm 500 WiE § 11 quR
@W?WWHd&ﬁM@%,WWﬁH@IWMﬁU
ZgHed St 7 TEt gan dft aeE 39 | 2
16. X foufes (d9-gdt¥u audl) ¥ 10,00.000 qu® T 99 Fa-v=T Tt A3 Hs

A 1 nE3Ed, 2022 § 5% W 3 udt 37 B &S et it A §
m?m—WMM4,14,oooguétﬁlfea%ﬁwmmwﬁ
Jan-U3d TuHl faewm &9 Sffer fodm iz 7= | Tog-Uzg =t faem ot

S IH W3 FIR-U3T Ut fowee &9 Iuhts ags B¢t I9 &5 gan
dt IeaT J9 |

o

Lo

17. I8 93 & 83 3 Tt v Imeana feeae fanrg a3 - 2
fezge 31 H'39¥, 2021 | 31 H'J9, 2020
FO8E 3 nHES 12,50,000 10,00,000
HU3 AHIET &t B3 6,50,000 5,00,000
Jd HI9 10,000 50,000
18. ‘393 YW feeas’ »ifls A8 <95 ydie s’ use w3 Hifladt & divz &
IEE 9 2
31.03.2022 31.03.2021
UBTe W3 HHi&d! ¥ 3,00,000 T 2,00,000
Aeddl

(i) WS 9376 SIret ardl furse ¥ 50,000 |

(i) 50,000 JUB BAF T UBE w3 HHtadt (fem 3 wA=e 15,000 JUE
Saret Iret) 40,000 JuE fE9 e |

B ymaT &5 g & yia 33 | Jod YHG € 4 #d IB | 2x4=8
19. () J93 YT fezae T & I9 QUET (uses) Y | 4

i) fex feufzz 3 20,000 wiE SEt 10 B yf3 »iw 3 2 R yf3 »iw
ydtHns §4ug fa-39 faranaame wierfesfiaer Ae

fgs-u39 3 ¥ 2
WMHTHS 3 ¥ 5 (udhfivi FH3)
yfadt as 3 T3

ondt 3 wf3H I8 3 T 2
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It wigrede &t i3 famr w3 Qo' & gft Ty a9 oSt ot 1wl
fadargt {39 wipwfsa 241 5 wigteie At adt | fas-Ugg 3 frmrer
JHt w@eHe 3 e IH € Fazs BEt yuar it ardt |

‘TN’ fm § 400 wiE wiwe AT TR G wimeie w3 ufodt B T2
wHES fagm | 8r T wim ufodt a8 3 gme 793 a9 B¢ IE |

‘WH’ ﬁnaeoonmmwzaﬂ%m@au&mﬁm»@emﬂ%m

waﬁézﬁanmmlﬁngwéeﬂaﬁimwa
ge H93 J9 BT JT |

fan foufes St adint fég woas oW a9 |

Git) I ferfes B 100 u® =B 10% vt 3 10,000, 9% foe- Y39 Al

3 | fs-U33 3 60 quP w3 w@eie I 50 quB (udhHinH FHI)
wiarfesfiiar J |
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et It wR IR I yus T ot | fae-UIat § TR 96 I WA
20,000 JUT W& | fAgat & 3393 H3H a9 &3 famrm |

Idtn foufes S adtwt &9 7958 feeaw a9 |

AL R

11, 3la 77 T87 189 :
(i) H@ﬂiﬁﬂ?ﬁ'ﬁ@?’o’#’ﬁﬁﬁﬁﬁd'q* J5" |
(i) YDA T AHT T wIE 3T § 3T FI&T I |
(iii) o=t &9 Alt + A T ans folge f&9 S99 735 T |
(iv) DBMS € »J¥ J FU8 §F HaaHe fAmeH |
(v) DDB @ans dt =93 fumee dwe ot it 7t T
(vi) MS WaRs S8 Alt + P & a3 fiffdar et fidft 77t J |

(vii) faeftes AfuBea fSu faua W3g s =afaw 7o ¢
(a) o-933 (b) WEH
(c) H3H d) 29 U3 -
(viii) AUSHfI3 By Y&t € weema It famnt I3 |
(a) JFHI AEcamd (b) IHACHEHI Heeang
(c) <BINF WETMI d) feg w3
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ix) feost f&g pdfumr ferwst fagdft 3 2
(a) U'A<GS | (b) HI® I3
() €8T d3 (d) FHTT I3
(x) SQL ¥ »3J¥ J :
(a) Wedagg gdl IHT (b) feim s g
() HUT At G5 d) feast fed It =

(xi) MSExcelﬁmemﬁﬁwrjgiwﬁ?

(a) = (b) > () < (d) []

(xii) mmﬁ%%mw%ﬁﬁaﬁmewﬂ@ﬁ?

(a) &YHJ (b) 2aHT
(¢c) nYd (d) feg wg

12. Ufg®™ 3 IS (Ready-to-use) M3 fe=afad (Customised) afuGzdifaz &

13. IfUGedifgs Bur yeidt (CAS) Pt ¥ feimaret fad |
14, TR Ift TT T2

15. fegs™ f&9 f993™ Sequential code, Bluck code, Mnemonic code I& ?
(i) ASR, NDL, MUM

(i) Cu002, Cu003, Cu004
(i11) 100-199, 200-299, 300-399

16. 23 IBHT T 3B MS Access feg feq faafes 2 fanrg a3 -
Customer ID, Account No., Name, Address, City, Balance
17. DBMS #U1s faHs feu3 »iegwr & Petty Cash Register feg €am@ .

N b b b

2022 Description Amu;nt o

June 1 Received cash from cashier 2,000
June 3 Paid postage 150
June 5 Purchased stationery 350
June 15 . Paid taxi fare 470

18. MS Excel f&8 fAft 3l fedft (SLN) <t <93 g9a fume & 925 a9 2

Description Data

Cost < 18,950

Salvage T 1,450 .

Life 5 years

142/A-SS 9 [Turn over

(3 scanned with OKEN Scanner



TX R R w3 gdw YHE & 4 WA T3 crtel
19 o W By gt e diaa gy gt Fg Rt g g e 1
i TN eIl o Byt v faneg a3 4
Sr No Name of Account Opeming Balanee in 7
l Capital 2.00.000
2 Purchases
3 Sales
4 General Expenses
5 Cash in Hand 7.000 (Dr.)
6 Bulding 1,87.000 (Dr.
7 Salary -
N Commuission (Credit) 2
9 Prasad (Debtor) 17,400 (Dr.
10 Veena (Creditor) 11.400Cr.
i fea muasHte &9 faod eoyd & 93 q93 1500 fefomradnt 5 3
Marks Obtained by Students Grade Awarded
lLess than 20 | F
From 20 to Less than 40 E
From 40 to Less than 60 D
From 60 to Less than 80 L
From B0 to Less than 100 B
100 A

(Hindi Version)
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w7 8. 19 § A7 39-41 F | #i7 § & 73 7 got % 379 B | 579 77 4 5%
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T #
AR 3rera TR I 1841=18
i U AIEAAS PR WSAEGHSE (e T 2
i) I A9 A @A UF ATETE G 2
i TS ATETern & i U J@3Er & #9 4 nfae fEE o "5 2
(ivy GAHAITERA AT Uk JHETE @1 2 |
v Afcfes geafal @z aEEm F 96 @[ 9 73 oA
(viy UF 1 ATHER BH 1 O 7N % v e am 2
vii) U ATZZT 1 FETgA & IRUIEEEY B 1 Qe 2h 2 |
viii, § &1 fgfq °, AEEd JM nEd 99 A3nEn § @™ #1899 @9 9
EILU
ix) U% BH F faued 7A T 719 0 T4 9l @ 0 TEEiE T 2 I

agﬁaw?zrm;

(x) @4 g a@ $1 fash 7 g nfs =1 g s g 1
(a) ‘I‘sﬁTHHIfEFI (b) HETA I
(c) (d) I 3™

(i) 1'ﬂaﬁ 2022 #1 TH HTFZT T HH 1 T 1,00,000 F F A | FEAA &
WG § 319, 2022 F1 F3 @ =AH g - i
fa) 1500 by T 3,000 (¢) ¥ 6,000 (d) ¥ 12,000

rxjilﬂﬁmﬂqﬁﬂ: 1
(a) HTHZT F T (b) BT F1 FHITA
(¢c) HIHZT F F1 W =ATH (d) TmRn 6 g W A

(xiii) PV I R !
(@) T YA P ITE () [ UM - T I
‘¢) THEI AIA — AN S (dy MY ST - IO A
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mr 65 3 (thy 4:3:2
543 (d) @@ B FT3 T

Wi T wE € g A sl foAwh ]

—— E =3

a  Harfags "qEEn (h) aTeh ATHET
o f) grgem (d) mﬂm?ﬁ
xvii I g R l
@) JHEE @A (b) aTEAfd® @Il
) SAfFTd @l (d) Hu| @

mmnmmma{wﬁm‘mmmimﬁmﬁ?smﬁ'ﬂml
IEF 7 6,000 TSN @S H WAH FA 9 | agA @@ 8 fpadt vfer e

$1 i 2 I
‘ai  ¥5000 (b) ¥ 1,000 (¢) ¥ 6,000 (d) T 11,000
T gv7 5.2 59 7% FNA0 | A% F9T 2 3HF F1 8 | 8x2=16
2. mmmﬁmﬁmwm%? 9
3. YAYeATEA G 1R 2 9
4. FO & &4 v f A 59 10 F 2 an fafwu | 9
5. aﬁ&aﬁqaéﬁmmﬁu’rrmaﬁ’rﬁq: 2
(i) a4 & MH I T T 20,800
(i) a9 %H HG U T G T 8,400
(i) T4 & IF ° qTHE1 G T 2,400
(iv) a9 F d4 7 qrft grq == T 2,800
(v) aﬁiﬁq.sﬁfmﬂmm T 1,600

6. UH AEH & fod ufw awl F @™ wEw. 7 80000 7 g

¥ 1,36,000 37 2 112000?1%@3@@%%@@?‘
HMT 7 @nfd % g i e fifso |
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7. X.Y.ZCH @ FH H 530 2% AU 4 died gy AwieE # 11 30, 2022
IRA 2:2: 1% U A TN diet F Foen fem | 39 ffy w1 9w fes

v
™ g g (Cr.) 15,000
AT G 50,000
Imeafig o =49 10,000
AT el Ffarear Hifsu 2
8. ABINCHM S 3:2:1F UM § afed £ | afeat § =iy &
o9 T 2,40,000
® | BUaTHgd 8l @ 3 B i Jarfiefn ¥ fo s & g5 6,00,000 2 |
A CA wiesy § &MY 3: 2% 39 & Siet &1 Seen fe |
HEvEH T gfafeeat fifsu | 2
9. ®l, WIE 3N TIEA W H 4:3: 2% U # arzd ¥ | g0 A 31 Rwew, 2019 F
gog B Sl 8 | W W ¥ 31 ATE ) ag feu o 2 1 31 9, 2019 # GHTA
g a a9 & RE st € 4,00,000 2 11 3@, 2019 & 31 Rmwr, 2019 99T H
" fashl T 3,30,000 8 | 31 9, 2019 ! G0 81 a9 F RE A 6wl
% 60,0002 |
HH % FIe] 99 & A H 7q FRGR & e 1w Hife | 2
10. SR A A &g A7 99 FC | RS T F 4 35 8 | Ix4=12
(i) wifqal aUT YIaH 3R IS AU T (1Y 9 4F) @Id § Hig 90 FA=< fafag | 4
(i) ETSrerdt 1 1S ww faand fafaw | ‘

(i) A3 B, 3:1% 39U § Toh FH & oW o g $) afed F aBEr § | T8
1/4 = § C %1 90 GEe % ®9 § 31 e, 2020 Fi o, 59 3 Af=m

fozar 38 v o
_._m ) . — = -
war WS AN | 17,000 | @R 15,000 |
TR 1 &fagfd g=d 6,000 | fafaa 2@ 50,000
fraw sifeen 9= 4,100 | Less : y@4™ 2,000 | 48,000
gt - faw 7,000
A 54,000 | qsa! 6,100
= 35,000 | @M 40,000
| o 116100] | 1,16,100
fr=fefiga afedat w Hﬂqﬁ g’% :

(a) ‘C, T 16,000 @arfa 3R angarfoss $oft it T |
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(b) &A@ T T 3,000 % |

(¢) THaw %1 q9W I T 4,500 |

(d)  HR 1 Hiogfd g7 & @@ w aga ufit T 2,000 2 |

TR T 3N aEerl ¥ §oft @ sy | y
(iv) A, B3R C AW 9 &4 # su«t 37U & sied & | 31 A€, 2022 Hi ’f=m
%wﬁtr%ﬁaaaﬁan%
 an " T qeafrar z
fafay der 31,000 | % 6,300
g =g 18,000 | 2HEK 55,000
oY § g1 @rar 12,000 | Tgfeam 81,000
A # 9t T FHS 12,000 | FHT=R 20,000
12% s sl 20,000 | &1E 53,700
‘iﬁolﬁﬁ: dic] QIdT :
A 60,000 ¢ 22,000
B 50,000
C 20,000
ETFL@TR:
A 10,000
B 5,000
2,38,000 2,38,000
13199, 2022 & B &1 faues = fean mn .
(a) §e % A8 T 5,000 fawt o1 | I® foet ‘R’ @ wd g3 e | R Rafern
arfera gan 3R Iaeh! @It | 60% Iqa fora |
(b) ¥ o afedt § arfofed few & e 2 8,000 % 1w e w
A4S ¥ Q T g o foran |
(c) Amwﬁﬂwwmm@méﬁ%mm-@m
(d) &% FI N gEE & ST F Y FHAT 74T |
(e) mﬁﬂfﬂéﬁqma@ﬁﬂé
GTER ¥ 24,500; W1 T 60,000; & T 28,000 |
A QT SIS | 4
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W @ 3R W N | FE s v A |

qm
11. &8 3ea Terd @y 12x1=12
(i) vt v FHm Al R | ]
(i) FOTeE e §oft 1 o faem @ 7
(i) T HEqA 794 FO9T @l THAl B | i
(iv) s @ U& =T ¢ 2 | ;
(v) ﬁﬂwm%mﬁl ]
(vi) 79I il gTEdE W& faeia nfafafy 2 | ]
agﬁasm?zrm:
(vii) FH T€ FA I A1 FE IR | ;
(a) VYU (b) YWied
(c) WY Y (d) fad ot
(viii) I T 101 379, 1 7 = 1 ifiem w st e e, 7 9 (i afed) T
1 %1 & au Sifem wfed 2 7 % ymam f w2, we = fon L g
@1 sfae w6 =ifzu - 7
(a) T10® (b) T8H (¢) T9W d) T7E
(ix) U HTEEA-YF @Il h Ffd 2 - 1
(a) drdlds® @l (b) STHETH @raT
(¢) SAfP@@Em C (D) T Y HE T
(x) TH FH H =] FEiET T 6,00,000 § a9 HEEE §Sft T 2,00.000 §
S 6] AU BT ]
(a) 3:1 (b) 2:1 (¢) 4:1 (d) 15:1
(xi) TF FH I F @ERET T 20,00,000 T fBR FEfE T 8,00.000 | F
el w fer geafagt &1 gfase = gm 92 1
(a) 60% (b) 29% (c) 40% d 71%
(xii) Ffofiga @ @ fopm <ie &t e soat o ST R 0 I
(a) feshl-am wfoyfeai (b) SR
(¢) Trawm (d) Tatma o=
T T & 12 818 7% g7 FNow | TAF T2 3% FT 8 | 7x2=14
12. Wt A o S e § @ Q) s e | 2
13. F93 H et F fore fm & @ @ fafiae | 2

4. et foan sty 1 3 2 o, o
15. ™ fafies 3 = 10 9@ 800 f A 3w wea fopy i W ure A 9l 3 W Faa

X 4 AT TR 37 A oA | T F 500 99 F1 T 11 7R 39 & e ¥ ey w9
% . Pl e v | o oo 3 adter ) e i <) ToE A | )
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16. X fafiRs (hgfeg swi) 3 7 1000000 F 9% Fogm s feu 9 =
| ATFRE, 2022 W 5% fftrem @ qff a@ @ 4 § amdt A FH B | FEA F
Ty arqet Rord € 4,14,000 o1 | g8 Faen frn mn B wowa awd A A
Fravgs PR fF J | o amd faw F R e aff qun wOT AT

fod d qedlel v & R ofh smavgs oft it o Hifde | 2
17. Ffafaa sl & @ 3 i e fam dam fife . 2
feyaTo 3197/, 2021 | 31T, 2020
T ¥ 3 12,50,000 10,00,000
g Y ¢ Tl i 6,50,000 5,00,000
I = 10,000 50,000
18. Vs Yo fAaw’ F o7 af F e Wi 7 wiie 9 wefi i Hwa B0
HIfT 2
‘ 31.03.2022  31.03.2021
e g g F 3,00,000 T 2,00,000
ISR :

(i) a9 % SN AT T g™ T 50,000 |
(i) T 50,000 T HT AT § TG (35 W B T 15,000 ST TAT) T 40,000 H
a9 fean |
7 v 7 3 FE gt ¥ T | IAE FH F4 HF E | | 2%4=8
19. () UFe Yo et & +iE I’ T (uses) forfan | 4
Gi) faera fafiee 3 20,000 39 & fow = 10 fd 3w W T 2 yfa 3w fiftrm
3T W T2
A& W % 5 (it wizd)
gEeA! T W T 3
gl 3R A< I W 2
30,000 39 & foTw Mg W=t BV | 6,000 W * o WA S B
Araed T8 forar man qun Iht Ui aqE o & 1 | AW SEeA] S AT
®9 ¥ JEfea fom w1 | AP W anfuew ufyr T W 2w UfEt &
e o o ygm &t 8
T’ & 400 W Arefed fpy e | 98 <@ e UK aun yEedl =T Ui A
¥ 3EE T | Iqh AV IgeA! A1 b 918 Heq I |
W@ F 600 3 mEfed fry M | F7 ggelt armT 3 gEd @ Iifow A=
i T YTaE FA H IEed @ | 38 W Wt gull R aifaw I % g
e & fou 1T |
oo fafies Y afzal ° sSHw yfafeat i | 4
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g ®w Aoz 3 o2 100 9 10% e @ 10,000, 9% Foma I feo |
mﬁmrmmmq??ao(ﬂfﬂ'ﬂqqﬁﬂ)wmﬂmif
10.000 F % 0 197393 WA gu st e w0 fu e | A den wé
wn&anm|mmmmmaé¢zomoaﬁ%gmmm

T m
WW@#M‘?WW%] 4
qm
\1. @ 37 777 fafEo . 12x1=12
L T 3 EA e ) Rseand § I
i G F ARR WY R 3 # & | 1
i) 2°1 T Al + A% F ford ¥ arge e R i
v DBMS F1 5dcie 390 99 A fiew 2 | 1
v.  DDB %@ F1 Y41 818 fraen & fou frar smn 2 | I
vi' TH.U9. UFE (MS Excel) T Alt + P &1 33m fifen % fore fvr S 2 | 1
vii ) %ﬁﬁwnﬁmmmmmmm%? 1
'a) F1AZ (b USH (c) HreH d) =
iii) FZA =g Aireaw i fred i
‘a) TEWE TiREW (b) FTFfd (AEEH) TTFRAA
‘cr  ZFHE AR (d) I a4l
iy, T B grar $E R R 2 I
‘a2  THEE (b) lﬁ_\'lﬂﬁ'g
(¢, TAH FIZ (d) AR HIS
x; SQL T 394 2 | 1
‘a, HIEA T 90 (b) To9rs w¥7 WM
‘¢)  HT F91 FA (d) Hﬁﬁﬂ?qﬁ
Xi) »mExmlumﬁmﬁzaqsﬁm%" 1
(a) b) > (c) < (d []
rxiljwmrﬁaﬁrzymwmgaﬁmmﬂmm%? 1
‘ay T (b) THL (c) & (d) 94 o
T g7 7. 12 7 18 7F FIIC | T4% J97 2 3% #1 8 | - Te=14
12. T4 B 0 30 SIaEE FEggied e aeadt § Hi§ 3 I forfen | 2
13, FopzfigA w7 yunelt (CAS) H1 31 fadmand foflae | 2
14, A F FNAE 2 ? 2
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15. ¥ & F1-41 Sequential code, Block code, Mnemonic code & ?

ASR, NDL, MUM

(1)  Cu002, Cu003, Cu004

(111) 100-199, 200-299, 300-399
16. ﬁqmaﬁaﬁrﬁ MS Access | qm%amiﬁﬂm I :

Customer ID, Account No., Name, Address, City, Balance
17. DBMS ¥ famfefiga sfafteai i Petty Cash Register ¥ Jferd HifSu

(1)

2022

June 1
June 3
June 5
June 15

Description

Received cash from cashier

Paid postage

Purchased stationery

Paid taxi fare

Amount in
Q:

21 ODO
150

350
470

18. MS Excel ¥ &% ¥@1 fafyi (SLN) &1 W& &t& 8@ ga1 hifsu |

Description Data

Cost < 18,950
Salvage T 1,450
Life 5 years

17 FH 7 8 Fi3 7 79T FHA | Y% T97 F 4 3575 &
19. (i) %mmﬁmwmﬁnﬁmﬁwmﬁﬁQI

(%75 =R)

(ii) TH Tl T H IFH3L TN |

Sr. No.

O 0 ~1 O N A L N

—
(o]

142/A-SS

Name of Account
Capital
Purchases

Sales

General Expenses
Cash in Hand
Building

Salary
Commission (Credit)
Prasad (Debtor)
Veena (Creditor)

18

Opening Balance in ¥

2,00,000

—
—

—

7,000 (Dr.)
1,87,000 (Dr.)

r—.

17,400 (Dr.)
11,400 (Cr.)

2x4=8
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Note : (1!
(1
4l Question /s attempted after leaving blank pagels in the

qv) There are three sections in the qu

oril @) AR sqmn A oo @ Uy
Marks Obtained by Students Crade Awnrded
Loss than 20 |
From 20 to Loss than 40 I
From 40 to Less than 60 1)
From 60 to Less than 80 0
From 80 to Less than 100 I3
100 A
(English Version)

You must write the subject-code | paper-code 142/A tn the box provided on
the title page of your answer-book.

I Make sure that the answer-book contains 28 pages (including title page
and are properly serialled as soon as you receive il.

)

answer-book

would not be cvaluated.
estion paper: i.e. Section A, Section B
for all the students and

and Section C. Section A is compulsory
ion B and Section C.

students may choose only one section from Sect

vl There is no word. line or page limit for numerical questions.

(re!

(vn)

(viii) Question No.

The use of non-programmable simple calculator is allowed.
Section A
Question No. 1 carries questions of 1 mark cach.

Questions No. 2 to 9 carry 2 marks each.

No. 10 consists of four sub-sections. Attempt any

stions out of four. Each question carries 4 marks.
Sections B and C

11 carries questions of 1 mark each.

Question
three que

Questions No. 12 to 18 carry 2 marks ecach.
No. 19 consists of three sub-sections. Attempt any

Question | ‘

two questions out of three. Each question carries 4 marks.

Section A

1.  Write True or False : 18x1=18
(1) A public library is a non-profit seeking entity. T- 1
(11) Receipts and Payments Account is a Nominal Account. - 1
i) A minor can also be admitted as a partner. \ i
(iv)  Revaluation Account 1s a Nominal Account. | . I
142/A-SS 19 [Turn over
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V) Unrecorded assets are recorded in existing Partners’ Capital Aovounts
(V1) A new partner is liable for past losses of a firm. _
(vil)  Retirement of a partner results in reconstitution of the firm :

(viii) In the event of death. the combined share of profit of continuirg partoer:
will increase.

(1X)  On dissolution of a firm. cash-in-hand is transferred o the Reahsatior |
Account. )

Multiple Choice Questions -

(x)  Amount received from sale of grass by a club should be treated as : i
(@)  Capital receipt ‘i Revenue receipt
(c)  Asset ‘d) Earned income

(x1)  On 1% January, 2022 a partner advanced a loan of Z 1,00.000 to the firm.
In the absence of agreement, interest on loan on 315 March. 2022 will be -
(@ T 1,500 (b) % 3.000 ‘¢) % 6.000 4. ¥ 12.000

(xi1)  Pick the odd one out : i
‘a)  Rent to Partner
(b) Manager’s Commission
(c)  Interest on Partner’s Loan
(d) Interest on Partner's Capital
(xii1) Sacrificing Ratio is :
(a) New Ratio - Old Ratio ‘h)  0Old Ratio — New Ratio
(¢)  Old Ratio - Gaining Ratio (d) Gaining Ratio — Old Ratio
(xiv)  When a new partner does not bring his share of Goodwill in cash. amount
18 debited to :
(a) Cash Account
. (b) Current Account of New Partner

‘c)  Capital Account of New Partner
(d)  None of these

(xv) X, Y and Z share profit and loss in the ratio 6 : 5 : 3. P was admitted in
the firm as a partner for 1/8 share. Calculate sacrificing ratios of X: Y : Z

L |

b

A4

(a) 6:5:3 (b) 4:3:2
(¢c) 5:4:3 (d) None of these

(xvi) On retirement of a partner, Goodwill will be credited to the Capital
Account of ; 1
‘a)  Retiring Partner (b) Remaining Partners
(c)  All Partners (d) None of these

(xvil) Realisation Account is a - 1
(a)  Nominal Account (b) Real Account
(c)  Personal Account (d) Asset Account

(xviii) A partner is to bear all expenses of realisation for which he is paid
¥ 5,000. He had to pay Realisation Expenses of T 6,000. How much
amount will be debited to Realisation Account ? 1

(a) 5,000 (b) 71,000 () 6,000 (d) ¥ 11,000
142/A-SS 20

(3 scanned with OKEN Scanner



empt all questions fro
Vi no.2to9 which carry 2 marks each. fx2=16

3 What do vou m .- .
; What 1= Revaluzzlo?;hange " Profit Sharing Ratio ? ¢
¢count ? | 2
Write anv two ds
) F1 - '.J Aifferences between Firm's Debts and Private Debts. 2
5 ind out the income from subseript; 5
(1 Subscription received d 'Puion for the year : | ~
$i Subscription outstand; ring the year < 20,800
' Subscription out~t: ) ?ng At the end of the year ¥ 8,400
' Subscription re b_ and?ng at the beginning of the year T 2,400
V) Subscriptio CETved fn advance at the end of the vear T 2,800
L f recewved in advance in the begi nning of the year ¥ 1,600
b ?;?;S{t]; p?ﬁlt‘zﬁngoﬁve years of a partnershi[? are ¥ 80,000; ¥ 1,00,000;
Goodwill on the:» b:a sis‘ ?ﬂd T 1,12,{300 respectively. Calculate the value of
e of three years’ purchase of average profits of the last
" 2
i. X Y. Z are partners sharing profit and loss in the ratio of 5 : 3 : 2. On
15 April. 2022, they decided to share the profits in the ratio of 2 : 2 : 1. On that
date. following balances appeared 1n the Balance Sheet :
<
Profit and Loss (Cr.) 15,000
(zeneral Reserve 50,000
Deferred Revenue Expenditure 10,000
Pass necessary journal entries. . 2
8. A, B and C are sharing profits in the ratio of 3 : 2 : 1. Goodwill is appearing in
the books at a value of ¥ 2,40,000. B retires and on the day of B’s retirement,
Goodwill is valued at ¥ 6.00,000. A and C decided to share future profits in the
ratio of 3 : 2.
Pass the necessary journal entries. 9
9. Hari. Mohan and Sohan are sharing profits in the ratio of 4 : 3 : 2. Hari dies on
315t December. 2019. Accounts are closed on 315! March every year. Sales for the
vear ending 31°* March, 2019 amounted to ¥ 4,00,000. Sales of T 3,30,000
amounted between the period from 15t April, 2019 to 315' December, 2019.
The profits for the year ending 31%* March, 2019 amounted to ¥ 60,000.
Calculate the deceased partner’s share in currenpyear’s profits of the firm. -2

._-___,_.-l"?

10. Do any three questions out of four questions. Each question carries 4 marks. 3x4=12

(i) Write any four differences between Receipts and Payments Ageount and
Income and Expenditure Account. e p

Write any four characteristics of Partnership. P 4

-

(11)
142/A.SS . 21 [Turn over
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(i)

(1v)

’ : s in the ratio of
A I} are partners in a firm sharing profits and losse =
and BB are g .1 y4h hare on 315t March, 2020,
31 They admit € as a new partner for - ' shar
whaen their Balanee Sheet was a8 follows :.

' e Rl ey --— - -—;—" - .
Linbilitics | 2 ; Assets —_— 1 —E',OOQ
Employee's Provident ' Stock
Fund 17,000 | ,
Workmen'’s | Sundry debtors 50,000 |
Compensation Reserve | 6,000 ; |
Investment Fluctuation | - Less : PDD 2,000 48,000
Reserve : 4,100 | | |
Capitals : . ' Investment 7,000
A | 54,000 | Cash 6,100 i
| B 35,000 | Goodwill 40,000 1'
L ) 1,16,100 1,16,100 |
The

following adjustments were agreed upon :

‘a)  ‘C’brings in ¥ 16,000 as goodwill and proportionate capital.
(b)  Bad debts amounted to T 3,000.
(c)

Market value of Investment is ¥ 4,500.
(d)

Liability on account of w

to ¥ 2,000, https://www.p
Prepare Revaluation Account

orkmen’s compensation res
unjabboardonline.com

and Partner’s Capital Accounts.

erve amounted

A, B and C are sharing profits and loss equally. Their Balance Sheet as at
315 March, 2029 was as under |
= , .2 = T
] Liabilities I Assets i T |
Sundry Creditors 31,000 | Bank 6,300
f General Reserve 18,000 | Debtors l 55,000 !
Profit and Losg Account 12,000 | Stock t 81.000 |
A's Wife loan 12,000 Furniture i |
| ; | - 20,000 |
12";"’.33111‘ loan i 20,000 | Plant 53.700 |
I Capital Accounts - | Current Account: | |
. A | |
| B - 60,000 5 C - 22.000 !
| 50,000 ' |
C 20,000
Current Accounts -
A 10,000 - 1’
| |
B 5,000 | |
e 2,38.000 - 2,38,000
22

4
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from ‘R’ ‘R’ I?i" for ¥ 5,000 under discount. This bill was receive:d
cstate. Proved insolvent and 60% were received from his

(b) [L was [‘Ound

T 8,000, "l‘hi‘«;u—":lt an investment not recorded in the books is worth

(c) 's taken over by one of the creditors at this value.
C

A g
(d) _— accept furniture in full settlement of his wife’s loan.

Ban -
k loan was repaid along with interest for nine months.

()  Assets realised as follows -

Debtors ¥ 24,500; Stock # 60,000; Plant 2 28.000.
Prepare Realisation Account.

4
Attempt any one Section from Section B and Section C.
| Section B
11. Write True or False : 191212
(1) A company is an artificial person. 1
(1)  Debenture is a part of ownership capital. I
(ii1) A company can purchase its own debentures. 1
(iv)  Preliminary expenses are a current liability. 1
(v) Bank overdraft is cash equivalent. 1
(vi)  Buyback of shares is a ﬁl}ancing activity. 1
Multiple Choice Questions :
(vii) Persons who start a company are called ‘ _ 1
(a) Shareholders (b¥ ~ Promoters
(¢) Issued capital (d) Reserve capital
(viii) Ifa shareof T 10ata premium of ¥ 1 on which ¥ 9 (including premium)
have been called and T 7 i:.'ncluding premium is paid, is forfeited, the
capital account should be debited by : 1
@) T 10 {9,-*% 8 (¢) ¥9 d) T7
' Debenture Application Account is in the nature of : bi
) ) Real Account (b) Nominal Account
E: Personal Account (d) None of these
J any’s Current Assets are ¥ 6,00,000 and working capital is
) : ;3:;%00 Its Current Ratio will be : 1
' ;3 1 (b) 2:1 () 4:1 a_{d}"' 1-:6:1
@ | 23 ~ [Turn over
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: vl nasets are < 8,000,000
(xi)  Total assets of a firm are € 20,00,000 and its fixed assels a

ausels 7 /
What will be the percentage of fixed assets on total assets PR—
(a) 60% (b) 29% (¢c) 40% ey }
’ S ale /
(xn)  Which of the following item is considered as Lﬂhl:l equiv
(a)  Marketable Securities (b) Dfrbtﬂf'*: A
(¢) Investment (d) Bill of Exchang s
‘ v ; each. ==
Attempt all questions from no. 12 to 18 which carry 2 marks each N )
. 1 .} rr .
12¢ Write any two differences between Calls in Advance and Calls in 2
LB./Write two sources of finance for redemption of debentures. j
l}/ Write any two limitations of ‘Financial Statement Analysis’.

' » holder
156. Ram Ltd. forfeited 800 shares of ¥ 10 each fully called up, on ’:hlﬂh ;{l;;z e
has paid only the application money of T 4 per share. Out of these,

' to be
~vere re-issued at ¥ 11 per share, fully paid up. Calcglate the amount to .
transferred to Capital Reserve.

 16. X Ltd. (an unlisted company) had issued ¥ 10,00,000, 9% Debentures Whl.(:h art:\

" * due to be redeemed purely out of profits on 15! October, 2022 at a premium o

l\/" 5%. The company had a Debenture Redemption Reserve of ¥ %,14,000. It was
decided to invest the required amount in Debenture Redemption Investment.
Calculate amount required for Debenture Redemption Investment and further

amount required to be transferred to Debenture Redemption Reserve, 2
17. Prepare a Comparative Statement of Profit and Loss from the following : 2
.' e = T - =
' Particulars 315t March, 2021 | 31st March, 2020
Revenue from Operations T 12,50,000 <. 10,00,000
Cost of Material Consumed < 6,50,000 T 5,00,000
Other Expenses ¥ 10,000 T 50,000
\ J{ Under ‘Cash Flow Statement’, calculate the value of plant and machinery
- purchased during the year. 2
' 31.03.2022 31.03.2021
Plant and Machinery ¥ 3,00000 T 2,00,000
Information -
() Depreciation charged during the year ¥ 50,000,
() Plant and Machjne ing - AT
ty costing ¥ 50,000 (depreciation id
_f 15,000) was sold for < 40,000, proviced thereon
Attempt any
. y quuestmns out of three questions. Eqch question carrieg 4 marks 2x4=8
.+ (i) Write any four uses of Cash Flow Statement
142/A-S3
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(i1) Vijay‘l..td. mvited applications for 20,000 shares of 2 10 each at a
premium of ¥ 2 per share. The amount was payable as follows :

On application T2
On allotment T 5 (including premium)
On first call T3
On second and final call T 2

Applications for 30,000 shares were received. Applications for 6,000
shares did not get any allotment and their money was returned.
A]lotm_ent was made pro-rata to the remaining applicants. Money
overpaid on application was utilized towards sums due on allotment.

Ram’ was allotted 400 shares. He failed to pay the amount due on
allotment and first call. His shares were forfeited after first call.

Shyam’ was allotted 600 shares. He failed to pay first call and second and
final call money. His shares were also forfeited after second and final call.
Show the journal entries in the books of Vijay Ltd. 4

()  Harish Ltd. issued 10,000, 9% Debentures of ¥ 100 each at 10% premium.

The amount payable is ¥ 60 on application and ¥ 50 (including premium)

on allotment.

Applications were received for 10,000 Debentures and allotment was

made. All the money was duly received. Expenses on issue of Debentures

were ¥ 20,000 which were written off immediately.

Pass journal entries in the books of Harish Ltd. 4

Section C
11. Write True or False : 12x1=12

(1) Speed and Accuracy are features of the computer. 1
(11) Grouping of accounts means correction of data. bi
(iii) Function of Alt + Ain Tally is to add a voucher in a report. 1 R
(iv) DBMS stands for Double Base Management Systems. 1
(v) DDB function is used to calculate depreciation. ;
(vi)  Alt + P in MS Excel is used for printing. 7

Multiple Choice Questions :

(vii) Which device is not used in digital computers ? ,
(a) Keyboard (b) Mouse
(¢ Modem (d) Touch pad
(viii) Types of computerized accounting software are 3
Vi () Read ymadﬂ' software (b) Customised software
(d
(¢) Tailor made software N ) All of the above —

142/A-SS
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OxY  Which of these is a securil y feature ?
) Password (b)  School code

() Block code td)  Sequential code

(X) SQL stands for

' st age
ta)  Structured Query Language (b)  Special Question Languag

() Super Query Law (d) None of these

. . - n
(xt)  Which sign should a formula start with in MS Excel °
(a) = (h) > (c) < (d)

l}
(xn)  Which type of data is suitable to the age of an employee
ta)  Number (b) Text

(¢)  Character (d) All of these

Attempt all questions from questions no. 12 to 18 which carry 2 marks each.

j—

fK?:JJ

12.  Write any two differences between Ready-to-Use and Customised computerized

accounting softwares.

13.  Write two features of Computerised Accounting System (CAS).
14. What do you mean by data entry ?

15.  Which of these are Sequential code, Block code, Mnemonic code ?
(1) ASR, NDL, MUM

(m) Cu002, Cu003, Cu004
(1) 100-199, 200-299. 300-399

16. Show a design table in MS Access with the following columns :

Customer ID, Account No., Name, Address, City, Balance

17.  Show the following entries in Petty Cash Register under DBMS :
2022 Description Am";nt n
June 1 Received cash from cashier 2,000
June 3 Paid postage 150
June 5 Purchased stationery 350
June 15 Paid taxi fare 470
18. Caleulate Depreciation by using Straight Line Method (SLN) in MS Excel :
Description Data
Cost T 18,950
Salvage < 1,450
Life O years

142/A-SS 26

(PO (T

o

2

ty

t o

(3 scanned with OKEN Scanner



| . . - ' rks. -
Do any two questions out of three questions. Each question carries 4 ma 274=8

19. ) Differentiate between Manual Accounting and Computerized Accounting
Svstem. (Any four)

(1) Create the Ledger Account of Ram Agencies.
Str. No.  Name of Account Opening Balance in ¥
1 Capital 2,00.000
2 Purchases -

Sales -

L= v

General Expenses -
Cash in Hand 7.000 (Dr.)

Building 1,87,000 (Dr.)

S

Salary .

~1

8 Commission (Credit) =
9 Prasad (Debtor) 17,400 (Dr.
10 Veena (Creditor) 11,400 (Cr.)

(1)~ What formula can we use in a spreadsheet to grade 1500 students. if the
grades awarded to students are in the following manner - 4

Marks Obtained by Students Grade Awarded
Less than 20 F
From 20 to Less than 40
From 40 to Less than 60
From 60 to Less than 80
From 80 to Less than 100

100

o =

> o
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